
Chapter 8, 9, 10 Practice Test


1.
Garcia and Koelling's studies of taste aversion in rats demonstrated that classical conditioning is constrained by: 

A)
cognitive processes. 

B)
biological predispositions. 

C)
environmental factors. 

D)
continuous reinforcement. 

E)
latent learning. 

2.
In order to quickly teach a dog to roll over on command, you would be best advised to use ________ rather than ________. 

A)
classical conditioning; operant conditioning 

B)
partial reinforcement; continuous reinforcement 

C)
latent learning; shaping 

D)
immediate reinforcers; delayed reinforcers 

E)
negative reinforcers; positive reinforcers 

3.
If rats are allowed to wander through a complicated maze, they will subsequently run the maze with few errors when a food reward is placed at the end. Their good performance demonstrates: 

A)
shaping. 

B)
latent learning. 

C)
delayed reinforcement. 

D)
spontaneous recovery. 

E)
modeling. 

4.
After learning to fear a white rat, Little Albert responded with fear to the sight of a rabbit. This best illustrates the process of: 

A)
secondary reinforcement. 

B)
generalization. 

C)
shaping. 

D)
latent learning. 

E)
spontaneous recovery. 

5.
After pigs learned to pick up and deposit wooden coins in a piggy bank, the pigs subsequently dropped the coins repeatedly and pushed them with their snouts. This best illustrates the importance of ________ in operant conditioning. 

A)
primary reinforcement 

B)
spontaneous recovery 

C)
latent learning 

D)
generalization 

E)
biological predispositions 

6.
Operant response rates remain highest when individuals anticipate that their behavior will actually lead to further reinforcement. This best illustrates the importance of ________ in operant conditioning. 

A)
secondary reinforcers 

B)
cognitive processes 

C)
biological predispositions 

D)
the overjustification effect 

E)
spontaneous recovery 

7.
The predictability rather than the frequency of CS-UCS associations appears to be crucial for classical conditioning. This highlights the importance of ________ in conditioning. 

A)
shaping 

B)
discrimination 

C)
generalization 

D)
cognitive processes 

E)
intermittent reinforcement 

8.
The idea that any perceivable neutral stimulus can serve as a CS was challenged by: 

A)
Garcia and Koelling's findings on taste aversion in rats. 

B)
Pavlov's findings on the conditioned salivary response. 

C)
Watson and Rayner's findings on fear conditioning in infants. 

D)
Bandura's findings on observational learning and aggression in children. 

9.
An animal trainer is teaching a miniature poodle to balance on a ball. Initially, he gives the poodle a treat for approaching the ball, then only for placing its front paws on the ball, and finally only for climbing on the ball. The trainer is using the method of: 

A)
successive approximations. 

B)
delayed reinforcement. 

C)
latent learning. 

D)
classical conditioning. 

E)
secondary reinforcement. 

10.
Asking women for dates is most likely to be reinforced on a ________ schedule. 

A)
fixed-interval 

B)
fixed-ratio 

C)
variable-interval 

D)
variable-ratio 

11.
It's easier to train a pigeon to peck a disk for a food reward than to flap its wings for a food reward. This illustrates the importance of ________ in learning. 

A)
primary reinforcers 

B)
stimulus generalization 

C)
spontaneous recovery 

D)
biological predispositions 

E)
shaping 

12.
Which of the following is the best example of the overjustification effect? 

A)
Zeke loses interest in playing baseball after the coach suspends him for a throwing error. 

B)
Bill dislikes doing homework even more after his father eliminates his allowance because he received an "F" in geometry. 

C)
Phyllis enjoys babysitting more after her hourly wage is tripled. 

D)
Phoebe loses her former interest in playing the violin after her mother promises to pay her 50 cents for each hour of practice. 

13.
Because Mr. Baron demonstrates appreciation only for classroom performance that is flawless, his students have become poor and unmotivated learners. Mr. Baron most clearly needs to be informed of the value of: 

A)
generalization. 

B)
modeling. 

C)
shaping. 

D)
latent learning. 

E)
spontaneous recovery. 

14.
Last year, Dr. Frautschi cleaned Nancy's skin with rubbing alcohol prior to administering each of a series of painful rabies vaccination shots. Which of the following processes accounts for the fact that Nancy currently becomes fearful every time she smells rubbing alcohol? 

A)
observational learning 

B)
classical conditioning 

C)
the overjustification effect 

D)
operant conditioning 

E)
latent learning 

15.
An executive in a computer software firm works with his office door closed. At the same time every hour he opens the door to see what his employees are doing. The employees have learned to work especially hard during the 5 minutes before and while the door is open. Their work pattern is typical of responses that are reinforced on a ________ schedule. 

A)
fixed-interval 

B)
fixed-ratio 

C)
variable-ratio 

D)
variable-interval 

16.
Which of the following questions about the word depressed would best prepare you to correctly remember tomorrow that you had seen the word on today's test? 

A)
How well does the word describe you? 

B)
Does the word consist of ten letters? 

C)
Is the word written in capital letters? 

D)
Does the word rhyme with obsessed? 

17.
Damage to the ________ is most likely to interfere with explicit memories of newly learned verbal information. Damage to the ________ is most likely to interfere with explicit memories of newly learned visual designs. 

A)
right hippocampus; left hippocampus 

B)
left hippocampus; right hippocampus 

C)
left hippocampus; right cerebellum 

D)
right cerebellum; left cerebellum 

E)
left cerebellum; right cerebellum 

18.
Memory experts who express skepticism regarding reports of repressed and recovered memories are most likely to emphasize that: 

A)
people rarely recall memories of long-forgotten events. 

B)
most extremely traumatic life experiences are never encoded into long-term memory. 

C)
only those memories that are recovered with the help of a professional psychotherapist are likely to be reliable. 

D)
extremely stressful life experiences are especially likely to be well remembered. 

19.
Chess masters can recall the exact positions of most pieces after a brief glance at the game board. This ability is best explained in terms of: 

A)
flashbulb memory. 

B)
chunking. 

C)
iconic memory. 

D)
the serial position effect. 

E)
the method of loci. 

20.
For a moment after hearing his dog's high-pitched bark, Mr. Silvers has a vivid auditory impression of the dog's yelp. His experience most clearly illustrates ________ memory. 

A)
short-term 

B)
iconic 

C)
mood-congruent 

D)
implicit 

E)
echoic 

21.
In considering the seven sins of memory, misattribution is to the sin of ________ as blocking is to the sin of ________. 

A)
retroactive interference; proactive interference 

B)
distortion; forgetting 

C)
proactive interference; retroactive interference 

D)
intrusion; distortion 

22.
Arnold so easily remembers his old girlfriend's telephone number that he finds it difficult to recall his new girlfriend's number. Arnold's difficulty best illustrates: 

A)
retroactive interference. 

B)
the next-in-line effect. 

C)
source amnesia. 

D)
proactive interference. 

E)
repression. 

23.
After reading a newspaper report suggesting that drunken driving might have contributed to a recent auto accident, several people who actually witnessed the accident began to remember the driver involved as traveling at a greater speed than was actually the case. This provides an example of: 

A)
proactive interference. 

B)
the serial position effect. 

C)
state-dependent memory. 

D)
the self-reference effect. 

E)
the misinformation effect. 

24.
After learning the combination for his new locker at school, Milton is unable to remember the combination for his year-old bicycle lock. Milton is experiencing the effects of: 

A)
encoding failure. 

B)
source amnesia. 

C)
retroactive interference. 

D)
proactive interference. 

E)
automatic processing. 

25.
The three-stage processing model suggests that we register information in ________ before it is ________ into short-term memory. 

A)
sensory; retrieved 

B)
long-term; retrieved 

C)
sensory; encoded 

D)
long-term; encoded 

26.
Children can better remember an ancient Latin verse if the definition of each unfamiliar Latin word is carefully explained to them. This best illustrates the value of: 

A)
iconic memory. 

B)
semantic encoding. 

C)
the method of loci. 

D)
automatic processing. 

E)
the "peg-word" system. 

27.
After attending group therapy sessions for adult survivors of childhood sexual abuse, Karen mistakenly remembered details from others' traumatic life stories as part of her own life history. This best illustrates the dangers of: 

A)
proactive interference. 

B)
mood-congruent memory. 

C)
the self-reference effect. 

D)
implicit memory. 

E)
source amnesia. 

28.
Research on the misinformation effect indicates that: 

A)
events from the distant past are especially vulnerable to memory distortion. 

B)
people can easily distinguish between their own true and false memories. 

C)
hypnotic suggestion is an effective technique for accurate memory retrieval. 

D)
it is very difficult to lead people to construct memories of events that never happened. 

29.
After learning that kicking would move a crib mobile, infants showed that they recalled this learning best if they were tested in the same crib. This best illustrates the effect of ________ on recall. 

A)
the serial position effect 

B)
retrieval cues 

C)
state-dependent memory 

D)
the spacing effect 

E)
the method of loci 

30.
Many of the experimental subjects who were asked how fast two cars in a filmed traffic accident were going when they smashed into each other subsequently recalled seeing broken glass at the scene of the accident. This experiment best illustrated: 

A)
proactive interference. 

B)
the self-reference effect. 

C)
the spacing effect. 

D)
the misinformation effect. 

E)
state-dependent memory. 

31.
Susan had difficulty recognizing that a sea horse was a fish because it did not closely resemble her ________ of a fish. 

A)
mental set 

B)
heuristic 

C)
algorithm 

D)
prototype 

32.
People with opposing views of capital punishment reviewed mixed evidence regarding its effectiveness as a crime deterrent. As a result, their opposing views differed more strongly than ever. This best illustrates: 

A)
the framing effect. 

B)
functional fixedness. 

C)
the representativeness heuristic. 

D)
the belief perseverance phenomenon. 

E)
the availability heuristic. 

33.
Compared to deaf adults exposed to sign language from birth, those who first learn sign language as teens are less likely to: 

A)
correctly imitate the signs they are shown. 

B)
use signs to indicate concrete objects. 

C)
mentally associate signs with written words. 

D)
comprehend grammatical subtleties of sign language. 

34.
Professor Carr's research efforts focus on how the use of heuristics influences people's assessments of financial risks. Which specialty area does his research best represent? 

A)
developmental psychology 

B)
biological psychology 

C)
clinical psychology 

D)
cognitive psychology 

E)
personality psychology 

35.
The representativeness heuristic refers to our tendency to: 

A)
judge the likelihood of category membership by how closely an object or event resembles a particular prototype. 

B)
judge the likelihood of an event in terms of how readily instances of its occurrence are remembered. 

C)
search for information that is consistent with our preconceptions. 

D)
cling to our initial conceptions, even though they have been discredited. 

36.
It has been suggested that Eskimos' rich vocabulary for describing snow enables them to perceive differences in snow conditions that would otherwise go unnoticed. This suggestion most clearly illustrates: 

A)
functional fixedness. 

B)
the representativeness heuristic. 

C)
the linguistic relativity hypothesis. 

D)
the framing effect. 

E)
belief perseverance. 

37.
When we use the word automobile to refer to a category of transport vehicles, we are using this word as a(n): 

A)
prototype. 

B)
heuristic. 

C)
concept. 

D)
algorithm. 

38.
The best evidence that there is a critical period for language acquisition is the fact that: 

A)
infants babble phonemes that do not occur in their parents' native language. 

B)
toddlers maintain a capacity to discriminate phonemes that they have never heard. 

C)
people most easily master the grammar of a second language during childhood. 

D)
preschoolers often overgeneralize certain rules of grammatical structure. 

39.
A single, memorable case of welfare fraud has a greater impact on estimates of the frequency of welfare abuse than do statistics showing that this case is actually the exception to the rule. This illustrates that judgments are influenced by the: 

A)
confirmation bias. 

B)
representativeness heuristic. 

C)
belief perseverance phenomenon. 

D)
framing effect. 

E)
availability heuristic. 

40.
As he attempted to spell the word receive, Elmer reminded himself "i before e except after c."  Elmer's self-reminder best illustrates the use of: 

A)
a prototype. 

B)
trial and error. 

C)
insight. 

D)
an algorithm. 

E)
a heuristic. 

41.
Beatrice and Allen Gardner taught the chimpanzee Washoe to communicate by means of: 

A)
pictures. 

B)
Morse code. 

C)
sign language. 

D)
a simplified typewriter. 

42.
Those who are skeptical with regard to claims that apes share our capacity for language are especially likely to highlight chimps' limited use of appropriate: 

A)
morphemes. 

B)
heuristics. 

C)
syntax. 

D)
phonemes. 

E)
neural networks. 

43.
Some people are unable to arrange six matches to form four equilateral triangles because they fail to consider a three-dimensional arrangement. This best illustrates the hazards of: 

A)
fixations. 

B)
heuristics. 

C)
algorithms. 

D)
framing. 

E)
overconfidence. 

44.
At the age of 15 months, Carla repeatedly cries "hoy" when she wants her mother to hold her. Carla is most likely in the ________ stage of language development. 

A)
syntactic 

B)
babbling 

C)
telegraphic speech 

D)
echoic 

E)
one-word 

45.
The dance of the honeybee illustrates that animals are capable of: 

A)
communicating useful information. 

B)
learning a sign language. 

C)
following grammatical rules. 

D)
all the above. 

46.
During the process of psychotherapy, Elaine accurately recovered some long-forgotten and painful memories from her childhood. This experience had led her to conclude that these memories must have been repressed for many years. Use your understanding of the nature of memory to refute Elaine's conclusion. 

47.
Heike's older brother has suffered from chronic depression for several years. Unfortunately, Heike has been incorrectly informed by her parents that there is a 40 percent chance she will also suffer from depression. Explain how the availability heuristic, framing, the confirmation bias, and belief perseverance might lead Heike to conclude that she will definitely be a victim of a severe depressive disorder. 

48.
(a) How would you classically condition an adventuresome 2-year-old to be more fearful of running across a busy street near her house? (b) How would you classically condition a preschool child who is afraid of dogs to enjoy playing with a neighbor's friendly dog?  Be sure to identify the UCS, CS, UCR, and CR in both answers. 
Answer Key

1.
B


2.
D


3.
B


4.
B


5.
E


6.
B


7.
D


8.
A


9.
A


10.
D


11.
D


12.
D


13.
C


14.
B


15.
A


16.
A


17.
B


18.
D


19.
B


20.
E


21.
B


22.
D


23.
E


24.
C


25.
C


26.
B


27.
E


28.
A


29.
B


30.
D


31.
D


32.
D


33.
D


34.
D


35.
A


36.
C


37.
C


38.
C


39.
E


40.
E


41.
C


42.
C


43.
A


44.
E


45.
A


46.
(No answer.)


47.
(No answer.)


48.
(No answer.)
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